

WELCOME TO



JANTA PARIVAR

क्या है जनता परिवार



जहाँ रिश्ते हो सिर्फ अपने
खून के उसे परिवार
कहते हैं
और जहाँ रिश्ते हो
इंसानियतके
उसे " जनता परिवार "
कहते हैं।



जनता परिवार ही क्यों

1. व्यक्ति आधारित मदद

2. वस्तु आधारित मदद

3. ज्ञान आधारित मदद

4. धन आधारित मदद

जनता परिवार हैल्पलाईन नं०

M: 8588834557

जनता परिवार

राष्ट्रीय कार्यालय

जनता परिवार के उद्देश्य:-

1. जनता को प्रकृति व संस्कृति की रक्षा करना सिखाना।
2. जनता को मानवता को बचाना सिखाना।
3. जनता को जागरूक करना।
4. जनता को कर्ज मुक्त, रोग मुक्त, नशा मुक्त व तनाव मुक्त करना।
5. जनता को एक-दूसरे की मदद करना सिखाना।
6. जनता को किसी भी प्रकार की मुसीबतों, दुःख व समस्याओं में मदद देना।
7. जनता को आर्थिक मदद, आर्थिक आजादी व आर्थिक सुरक्षा प्रदान करना।
8. जनता को व्यक्ति, वस्तु, ज्ञान व धन आधारित मदद प्रदान करना।
9. जनता को हर प्रकार की फ्री काउंसलिंग प्रदान करना।
10. जनता को अपनी भारतीय पद्धतियों जैसे- योग, आयुर्वेद, स्वदेशी, प्राकृतिक चिकित्सा व प्राकृतिक खेती के लिये प्रोत्साहित करना।

जनता परिवार राष्ट्रीय कार्यालय पता:-

बल्लघांगढ़, फरीदाबाद, हरियाणा, भारत, पिन कोड-121004

कैसे



आओ जानते हैं जनता
इनकम प्लान के बारे में



JANTAPARIVARFOUNDATION

₹105OnlyOneTimeRegistrationFees
Starting Upgrade-₹300



YOUUPGRADE1STLEVEL₹300/-

LEVEL	TEAM	HELPINGAMOUNT	TOTALAMOUNT	LEVELUPGRADE	HELPINGPROFIT
Level-01	2	₹300/-	₹600/-	₹600/-	---
Level-02	4	₹600/-	₹2400/-	₹2000/-	₹400/-
Level-03	8	₹2000/-	₹16,000/-	₹4000/-	₹12,000/-
Level-04	16	₹4000/-	₹64,000/-	₹8000/-	₹56,000/-
Level-05	32	₹8000/-	₹2,56,000/-	₹16,000/-	₹2,40,000/-
Level-06	64	₹16,000/-	₹10,24,000/-	₹32,000/-	₹9,92,000/-
Level-07	128	₹32,000/-	₹40,96,000/-	₹64,000/-	₹40,32,000/-
Level-08	256	₹64,000/-	₹1,63,84,000/-	₹1,28,000/-	₹1,62,56,000/-
Level-09	512	₹1,28,000/-	₹6,55,36,000/-	₹2,56,000/-	₹6,52,80,000/-
Level-10	1024	₹2,56,000/-	₹26,21,44,000/-	₹5,12,000/-	₹26,16,32,000/-
Level-11	2048	₹5,12,000/-	₹1,04,85,76,000/-	NoUpgrade	₹1,04,80,64,000/-

LEVEL-1 (DIRECT INCOME)

Earn Per Person Rs. 300/- Upto Unlimited earning

LEVEL-2 to LEVEL-11 (UPGRADE INCOME)

Earn RS. 140 Crores Only

(Term and Condition Apply*)

1. Two Direct joining are compulsory for all income.
2. Upgrade each level must be compulsory for upgrade income

आयकर विभाग
INCOME TAX DEPARTMENT



भारत सरकार
GOVT. OF INDIA

स्थायी लेखा संख्या कार्ड
Permanent Account Number Card

AAFTJ0911Q

नाम / Name

JANTA PARIVAR FOUNDATION
WELFARE TRUST



निगमन/गठन की तारीख
Date of Incorporation/Formation
20/12/2024



UDYAM REGISTRATION CERTIFICATE

UDYAM REGISTRATION NUMBER

UDYAM-HR-03-0063786

NAME OF ENTERPRISE

JANTA PARIVAR FOUNDATION

TYPE OF ENTERPRISE *

SNo.	Classification Year	Enterprise Type	Classification Date
1	2024-25	Micro	27/04/2024
2	2023-24	Micro	04/06/2023

MAJOR ACTIVITY

SERVICES

SOCIAL CATEGORY OF ENTREPRENEUR

GENERAL

NAME OF UNIT(S)

S.No.	Name of Unit(s)
1	NARENDER KUMAR SINGH
2	JANTA PARIVAR FOUNDATION

OFFICIAL ADDRESS OF ENTERPRISE

Flat/Door/Block No.	ABOVE SHOP NO. 11-12	Name of Premises/ Building	ARJUNA ACADEMY
Village/Town	NEAR GOVT. GIRLS SCHOOL	Block	BALLABGARH
Road/Street/Lane	SHANI DEV MANDIR ROAD	City	FARIDABAD
State	HARYANA	District	FARIDABAD, Pin 121004
Mobile	9350509662	Email:	choudharynksingh@gmail.com

DATE OF INCORPORATION /
REGISTRATION OF ENTERPRISE

04/11/2024

DATE OF COMMENCEMENT OF
PRODUCTION/BUSINESS

04/11/2024

NATIONAL INDUSTRY CLASSIFICATION
CODE(S)

S.No.	NIC 2 Digit	NIC 4 Digit	NIC 5 Digit	Activity
1	88 - Social work activities without accommodation	8890 - Other social work activities without accommodation n.e.c.	88900 - Other social work activities without accommodation n.e.c.	Services
2	10 - Manufacture of food products	1061 - Manufacture of grain mill products	10615 - Vegetable milling (production of flour or meal of dried leguminous vegetables(except dal), of roots or tubers, or of edible nuts)	Manufacturing

DATE OF UDYAM REGISTRATION

04/06/2023

In case of graduation (upward/reverse) of status of an enterprise, the benefit of the Government Schemes will be availed as per the provisions of Notification No. S.O. 19(E) dated 26.06.2020 issued by the M/o MSME.

Disclaimer: This is computer generated statement, no signature required. Printed from <https://udyamregistration.gov.in> & Date of printing:- 05/11/2024

For any assistance, you may contact:

District Industries Centre: FARIDABAD (HARYANA)

MSME-DFO: DELHI (DELHI)

Visit : www.msme.gov.in ; www.dcmsme.gov.in ; www.champions.g

Follow us @minmsme & @msmechampion



BE A
CHAMPION
with the
Ministry
of MSME

बड़ा परिवार → सुखी परिवार



हमारा परिवार → जनता परिवार

जय जनता परिवार



जय भारत

JANTA PARIVAR FOUNDATION
HELPLINE No. 8588834557



JANTA PARIVAR



www.jantaparivar.org



**THANK
YOU**